Calculus

Trigonometry Review

Find the exact value of the following:

1. sin30°
4. cos60°
7. tan90°

25.tan6 =0

28 sin 6:= —1

2. CoS2T

- 5. sin315°

., 8. tan% —225°)

20. sin 240°

3. costE e -

26. sing = -2
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24. tan(—45°)
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If 0 < 6 < 2m, determine the value(s) of @ in radians that makes each statement true.

27. cot @ is }_udfr&defined
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Evaluate to four decimal places. 4
1. arcsin(—0.1334) 2. arccos(—0.3987) 3. arccsc(1.942)

[~01337)  [1.9391 [ [ psger7
I _{ . ,

4. cot™1(1.767) ' ' 5. tan"1(1.111) i 6. sec™1(-1.287) ‘
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Evaluate to the nearest tenth of a degree.
7. csc™11.857 8. arcsec1.222 9. cot™12.453
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Detefnnne the exact value of each of the following.

10. arcsm 11. arccos(—1) 12. _arccot(—i)
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13. arccsc(—2) - 14, sec‘l( \/—) | 15. cot‘l(—\/§)
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16. sec (arccot%}ﬁ@ 17. csc (arcsm 2 ey% 18. Sin‘(ic.os'li)
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19. tan (arccos I—:)
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Use each equation to answer the following: = - = , 3 9/
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I y=—coss(x+m)—3 - i 2. y—3cot3( 2x-|‘-2.)+4‘}>

Amplitude: Amplitude: NONe

Period: é 5 ‘ Period: 3 1L
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Phase Shift: /KC 7T' Phase Shift: ___["( q }‘7‘— 4

Vertical Shift: _ 6[!’% .3 Vertical Shift: __(AO Ll‘
Graph one cycle for each of the following equations. Axes need to be clearly marked and in proportion.
3. y=—cos3x—3 4. y =cotx + 2 '
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8. y=2sec(2(x —m))
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Write an eqﬁaﬂon for the following graphs (M“‘O answess o3 SI'LU) .
Ly -G eos(XX)e0 " y=-20(39
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Graph the folIoWing equations.
3. y=sin"lx 4. y = arccosx
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7. y=csc " x ' 8. y = arccotx
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